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CH.1 Js¥ Ll

Mathematical Induction - FRI I oS

S A T

L Bghd JS 7 4 pa Jall @il ghad b La A Jad) < ghd aa (5% 7 )

Q.1: Use End.Math show that :

nin+1)

1+24+3+4+...... +n= 2
n=1,2,34,5.....
Ans:
sl ghad &G (e (1 98H Lgda A8y kg

A e sl faud > gadldl sak 3

o S G e el 2l _',!-;aﬂ-c;- ) mlelia

Reg aei Cpadd ] el penl s oS A o g
Ii:i‘\‘\""“‘-—-—.ﬁ_ = _?I"*"—I' _'_-i;" """‘:'—' Oy el g _.vl-'-l:l '—a_.nﬂ'—
LH.S =1
RH.s= 111+1) 4
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1+2+3+....+tk (k+1) -
{k+1]{k+lj
2 = RHS
ANl 5 gdaddi
£l
Tl £l L
it () S il
+
1+2+3+....tN= M
2
Aol Ja g

Jii bae L n= Adsaily p= 5 O U ) andin Alial) ) Lgd gl o) quag dala Ad3adle 4
(o) i O Cung Al gy ¢iaa Lty ) sgdial) g g Alicaall (B350 90 98 Le o llghy (S Ll
Oa sl gl e S) dlibany O OSaal) (e (g sbail) dadle (A () 9o BSEAY) (819 (ary Jla LRSS N

c 1ol (s ghana (o a1 LS8 LgdS




Q.2 _Use End.Math show that :

Ans:

% wki b4
Jjﬁl ER-E

143+5+....+(2n-1)= 11"

o B4 T
o b | # St

2(1)-1
(1)

L 11
aallal] & gesc

14345+ .. +(2k-1)= K’

14345+, +2k-1) + (2k+1)
k4 (2k+1)

= (k+1)°

-l
e .
E'—H.LH.H Flds o
dma () gl sl
14345+, +Q2n-1)= 1°

n=123....

n=1,2,3,....
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CH.2 A

Recurrence Relations g ) sl 8y

S8 T

]

ar

Aol ) e alaal) cp Ay 1Sl A8l Jay 5 8 G glud) Ena Cra () gea Jand Apdaly ) Y Mlaa A

2 A4Sl clBball Jand AN c¥aleal) Jad oy e g0 LB LaS dllia 4y ) il e slaall Jad

: (General methods) A5 48 )kl

L AGED L al) oe Aalaa S Je 060 ¢

&

pall sl = aldle e o) Slind Laiy ™y
aT +bT +¢T =0 AT TR
n (n-1} (n-2} RPRTRIFEL IRV | LN -

/_\ adlall am Al e adilas 5 e A g

dand Aa Seaall G @l Ledas Y
r1,r2 s 1=

rl
al# b+ c=0

OO | g bl i i dig
il gt S i
EGH U,Ji- il a?dld.ll ,:__o,.,'aa.i
i il iy et e
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?-‘:-._]\.J (e al gl b bl [y 9l ‘-ﬂ,

Ja ada y Lagie
r & r2
[ LN K] n.-...l:‘u!
‘_]Lﬁu-'-ﬁ Uhaw
r1 = r2 rMn = r2
LT PEwy PR L] :‘J)r_" 15l

i :ﬂ‘._,.lLFr.& . :‘“"A

Tn=a "+ pr" Tn={qa + Pn)r"

ANl il Ao againpaiy Uy 18 aa g o

Ex 1: solving T_ 4 1:[|11T4T{n-2} (To=1,T1=8 )

Ans :

Tn- 4 Tn ‘T} {n-2} =

I.4T+4=0

2

{r - 2 } =ﬂ

il.i ':I= rj=2
Jeodaiss ks
Tn=(da +« Bn)r"

by Wl s Y

N=0 — Ty g4 +ﬁ'@_1

N=1 ﬁ"}T":*’I"'ﬁ’IFE:B
p=3

S Tn=(1 +3n)2"
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: ( Repeated Substitution& guess)@m 43, k)

AUl < gladd) oLy Allld ¢ o Al B ) gual) o AN Jilewal) Jad

: (Solution steps) JaJl < ghad
Tn=aTn-1
Tn=a[aTn-2]
Tn=a"2 Tn-2
Tn=a”2 [aTn-3]
Tn=a”"3 Tn-3

In step : i=a”i Tn-i ,i=1,2..
So: Tn=a”nTn-n , TO=c , i=n, n=0,1,2..

The result : Tn=Ca’n

Q.1: solving the recurrence relation : Tn=(n-1)+Tn-1, T0=0
Ans:

Tn=(n-1)+Tn-1
Tn=(n-1)+[(n-2)+Tn-2]
Tn=(n-1)+(n-2)+Tn-3
Tn=(n-1)+ (n-2)+ [(n-3)+Tn-3]

In step : Tn=(n-1)+ (n-2)+ ....+(n-i)+ Tn-i ,i=1,2,3...n

=1+2+3+...+n-1
n-1

E  _ nin-i)

13




Q.2: solving the recurrence relation : Tn=1+T(n/2), T1=1, n=2*k, k==N ?
Ans:

Tn=1+T(n/2)
Tn= 1+ [1+T(n/2)]
Tn=2+T(n/4)
Tn= 2+ [1+T(n/8)]
Tn= 3+T(n/8)

in step : i=i +T(n/2"i) , i=1,2,3...k
at :

i=k

= k+T(n/2”k)

at :T=1

T=k+1

Q.3:we have 2 algorithms to solve agiven problem P.Which one would you Use ?
Why?

A: an iterative algorithm Which takes n”2 operation?

B: an algorithms Which applies divide and conquer. Its number of operation is
given solving the recurrence relation:

T(n)=n+2T(n/2) , T1)=0,n=2"k,K == N?

Ans:
A: n"2

B:

T(m)=n+2T(n/2) , T(1)=0,n=2"k,K = N
T(n)=n+2[ (n/2)+2T(n/2)]
T(n)=2n+4T(n/4)

T(n)=3n+8T(n/8)

in step : i=ni +2%i T(n/2%) , i=1,2,3...k
at:

i=k

= nk+2/k

=nk=nlog2 n ,O0(n"2)
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CH.3 SN gl

Trees B e

S A T

Aleal) Blad) & Adlide el aad ) iUyl cildabadia (e A jad) Ciliudal) aaf (pa 0aal g jlady) b
e glaall gl il g (AT Lgea] (o Bagae el B ) adiin dald dbay Ggulall ale g
Jisall (B Jad¥) i LaS | clill) Bao B (8 (lanyy Lgudany cilBle oy y g i) i 5 sk
Al A i) andiins QIS 58N g qud ) g Chiaatll cililes (B quaial) cid gl ) J gua glls 4y e
L1388 g alud) ciae e oS ISl g LIS e (e (58 Analad) Siad e b JSy Lgduiiall (Say A

: Sl £ i

d AU Laa 5 laudY) G (e o lin

2 Al Ja ) (g8ay Jas Al bakida & ¢ (Free Tree) a0 8add) -A
W (S VO sy Jlesa a5y 4B Bl (A Gl ) v w OIS 1)

. Root 3l e 3ty (ald (ul 5 ol 3 jadi & ¢ (Rooted Tree) Lgiadl ciis add) B

2 ogdal) Gl Sl g
: (Family Tree) -1

Family Tree :

edge — .

Waseim

.edge=n-123% 3 node=n-* e
e s 235Y o

16




. Aaalall 4 el a3 Jia : (Hierarchical Structures ) -2

Hierarchical Structures :

seography

Digrmean Regional
Champion
[Dn-sire)

ﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁ
o n 12 13 T4 1=

: (Expression Tree ) -4

A tree that represents 18
the expression

IEATH1)14 + (17-5)
The red arrows show
how the value of =] 12
the expression
can be comp uted.

answer

17




: (Binary Trees ) 4=l jlaiy)

S A T

1T v ol 00 il 401 i 4 il 3 (' s A o L i) A § 5
Lo AN 3 i (A by pale gy, i) paie (e jual Gl U (5 pul) A Sl 0 2l (A juaic
ool (B il pais (e ST Gl U e

AGATS 5 81 con ) a Comasl (S5 o5 0 ) Ad o £135 | e el (b Gaadisie ; uaiially
. 6L Sl uas ALY e g Al iad) 3 al) yuaial) ) Jseash N 1388 5 sy N

e
Left subtred] &
Right subtree

. 0 e g Adasa Bl ¢ ol AU Giagll alad) JOA) 138
:(Mathematical Induction Proof Trees) bl ¢l &ull Jladdd aldy) oy

Q.1 _ Use End.Math show that Proof the num. of edges in a tree = The num.node
in tree-1 ?

Ans :
P R . T
- i b | % G |
node Saanis An SN0 Syl aia i

0 edges

node edges
AELN LA | e k-1
ABL N ams | 3o+ 1c

ASIEN 5 _gdaditt

)
fal s T ;-—_j. [EE . ==
fac P - - = R |

n=1+2+3%+....-

18




L B Gl L) Fay 138 g cycle Adlia ¢y gSin edges (e S 4Bl die ; Aaadla

.2-Use End.Math show that Prootf the num. of node at Level <= 2"i-1 , 1=1,2,3.?
Q.2-Use End.Math sh hat Proof th f nod Level 2/i-1,i=1,2,3.?

T P
d_—j.ﬁl J'_:','t.ﬂLI

- EE
il | 3 g8l

i=1
#of node <=2"i-1
=2"1-1=2"0=1

| b
duidlia| & gaaa

-l
Elﬂ'-'l-'hu".:ll f-'.jl-‘l-_l-‘- u;&-
fmma gl il

i=1+2+3+....

i=1

Zof node at level k==2"k-1
at i=k+1

#of node at level k+1
==2*2"k-1=2"Kk

Zof node at level i==2"i-1

19




Q.3 -Use End.Math show that Proof the num. of node(n) is Binary Tree of High h

h<=2*n-1 , h=1,23...

4 wfi booed - S T
(e §el @ gamad o b | 7 i |

#of node in atree of hight
k==2"Kk-1 at h=Kk+1

#of node in atree of hight
(k+1)==(2"Kk-1) +2"k

=2(2"K)-1=2"Kk+1-1

h==2"n-1=2"1-1=1

24 oy
i o | o fadon

sl
e ‘e
ELI-H-H.'.I F ol | e
Fetmd () gl sl

sn==2"n-1
h=1.2.3..

20




: ( Floor Ceiling Function ) 4!} ciiu g 4 Jf
L1
.._J-ﬁg'l‘;' it |

The notation for the floor and ceiling functions is shown below:

v =ceiling(x) :|_x—|
v= foarix) =|_xJ

1-The floor functions:

L\J it in the largest integer 5::' X

Example .1: |j ﬂ 7

Ans: |_3+ﬂ=3

2- The ceiling functions:

r\—l :ditin the smallest integer '__?__; X

Example .1: |_?.1—| ?

Ans :
5l -4

21




: (tree traversal) JaddU Jalddl jLiay)
e

sais JS B 3o dles LG 8 gl dalile 48y oy 3 jaddl jalic e paie JS3 L5 a sl O A
B_andll aa Jalall) oy ia il B jalic EBG b pa cua L g, uaially daldd) cilitd) Aol Jia
2 Gkl oda g (3 ha GO lia 3 add) JLialY g ( root — left — right ) (A5 < slaall Gus il

.(inorder traversal ) 530 JLiaY) A

.(preorder traversal) i3 Gl J5aY) B

.(postrder traversal) <0 @Y SLia¥) . C

.(inorder traversal ) (=530 Jubia¥) -A

3 (AUIS ARy Jlal) (65

R A (A Le L o 685 LW 404 5 ) o5l 13)

((Lslad) ) Cradiiig) s el dus a1 B Al alie L5 -1
(< o ) 4 -

Boadd) jaa il -2

«( < slad) @l Oadilisa) u.'m,gl\ e Al 5 add) jalie 5,05 -3

Q.1 —Apply inorder traversal to print the tree ?

Ans :

Using Method inorder traversal :
Left:hdbe

Root : a

Right: fc g
Theresult:hdbeafcg

22




.(preorder traversal) i Gl JLbia¥)- B
3 (AU 4By phall (60
P Al ol Lo LT o 63 LG 408 B i) 05 ol 1)
S Jda s ) -1

(P beal) @ (paddina) (g pml) Ao AN Bl jualie 35 -2
( gl @l Oadiines) Aagl) e Al 5 add) jalic 5,45 -3

Q.2 —Apply preorder traversal to print the tree ?

Ans :

Using Method preorder traversal:
Root : a

Left:bdhe

Right: cfg
Theresult:abdhecfg

23




.(postrder traversal) i3 GaY) JuiaY) -C

3 (AUIS ARy Jlal) ()65

s Al b La D 2 685 LS A0S 8 ) oS3 al 1)

(sl 3 (pariinas) (g ) Ao i) B ) palis 45 -1

(e slad) il Cpraddini el e 8N 5 jadd) yalic 345 -2
S jiad ) -3

Q.3 —Apply postrder traversal to print the tree ?

Ans :

Using Method postrder traversal:
Left:hdeb

Right: fg ¢

Root : a
Theresult:hdebfgca

24




: ( Binary Search Trees (B.S.T) ) AUl cuaddl jladi

S8 T

IS B ol LS 1) ABLQYL Bl A ddaa pais sl o G et AU Gad) il b
. SHe
slacd gl cigsa gl ald )i o g il o)) CSaal) (pa B adldl pualic ; 4yl

: (Algorithm C++ Binary Search Trees) (Uil ) dua ) 63

def search binary tree(node, key):
if (key == data root)

"key is found"
else 1if (key < data root)

search left subtree
else

search Right subtree
else

"key cannot exist"

. dd raia gl da ) A0 038 ;A

bl (B yale ce dall)

Joash 3l paic¥) A 8L jaliall cl jlia MR (a3 ) B aial) (o aandly dllld 068
AiaY) Jal | paiall e i) die @l liall dae ) ABLEYL Y o) 39 ga puaind) JA i el Lgda g 4l
. AS) 3 S8l (i

25




Q.1 —Search For Key =20, 45, 15?

Ans:

Key =20

yaliad) 2 : N=7
GUjdal)l 2 2 4
éﬁyﬁ:ﬂi\

Key =45

(=)

(0) ()
OJORNO
(=)

yalial) 232 : N=7
Gl aae ¢ 3
Aﬁy‘yd..\ﬂ\
Key =15
26




waliadl e ; N=7
GUjdal)l 2 2 4
15250 S palnl)

el ) A5 sl 1315 Copasl ) AR 30 () el S 13 uinl) 3 RS o 3D m
5l dsasa e eaiall O s 2 ) il Lgm S eainl) Ui g 13 Sl gt 1 Jesi 0
:(Building tree using B. S .T) (AUl &yl aladieg 3 jadl) sl

WS A T

Crag sdal) ga Jo¥) Al ()9S Cung ) gad) B Unmall ueen i o JS al8 YY) Juudead gLl A3 58
iy, by AaTi sl 1319 Cpadl) ) Al pdad) e ) I3 pdally Ad g Asly (g M) AB 1) AL o
L _Sal) i) i gaadail) g atiaY) Bl dic lah | 3 jaddl 9@@&30\&\9\9&7\&“

PN

Bale elia alhaty Laa Slas 5 add) ath aal g palc CiDEA) e oY S 5 el qlly B ek sl die
Lsladll e gll o) 1 AN o e Agligl)

27




t AU Gl aladiieg § jaudl) sl o aliaf

Q.1 — Building Binary Search Trees with the data set: 50, 60, 40, 30, 20, 45, 65 ?

Ans :
Step 1

Step 2

O
(&)

Step 3

(%)
ONO

Step 4

(%)

(0) (=)

(=)

(=)

Step 5

()
ONO

()

Step 6

28
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Q.2 — Building Binary Search Trees with the data set: 10, 20, 30, 40, and 50?

Step 1 Step 2 Step 3 Step 4

OJIOM©®
@ &)

@)

Step 5

: ( Deletion& insert) 5 &l & cillaal)

AN sadl) o a8l B Ll el a gl AN clilead)

L pale ddlal -1

.Ja.a.b;.i:h _2

: (Add or insert ) @MW -1

saind) e Eagdl Ll sie Ua o) jaie oo ) die 48y jhll (il gLl jaie 48LaL dllld g
. Bl 4%8Ua) 3) jall puaind) 4Bl o g8

29




Q.1 —-How to Add insert ,1 element X= 62 to B.S.T ?

Given the following BST, we
want to insert a node with the
value 62...

We start by comparing the
node to insert (62) with the
root (90). We ses that 62 is
less than 90, so we know 62
must be added somewhere to
the root's left subtree,

We next compare 62 to 50.
Since 62 is greater than 50,
62 must belong somewhere in
50's right subtree.

We next compare 62 to 75.

Since 75 is greater than 62,
62 must exist somewhere in
75's left subtree,

Since 75's left child is a null
refarence, we have found the
new location for node 62!

All that's left to do is set 75's
left child to 62, which adds 62
to the BST tree and maintains
the binary search tree

property.

30




: ( Deletion ) <iiall -2
Bals

2585 3 gall juaiall Jpuagll dic Ua (S juaie e ) die A8y jhall (il pLily juaic Cidag @l
L Bl (e dbday

Q.1 —How to Deletion, element in Tree : Deletion X, G and D to B.S.T ?

Leaf Deletion
Root Roat
D . D
e e N P
A \Hc E \\(; A = E G
Deleting a node with a single child
Roat Root
D I D
e £, N
NERCHG @ A 0 & X

X

Deleting a node with two children, locate the successor node on the
right-hand side (or predecessor on the left) and replace the deleted
node (D) with the successor (E). Finally remove the successor node.

Root Roat
D
EQF Bf-*“"fE“"""--.F
A N o
A C E G A \\G \G
T T
{ X X

Successor node

31




CH.4

%=

B0min
SThm
.:uI shrava
[ ! ESmm
wal zaher| _- f1ak|a
& S0min
138min ;
i 8Tkm 6 1min i 3
81km
lﬂm'm
Eappum
245min
161km
J!mm F .
35min larafa t
“--*Huzha l i
'Il]mm \ azizia
TEkm
an !Smm
Smin
fdlm BTmm

S

steen

TJll:m

—. '_,»'-'-,|,|r||._:|:
pr—— | 2 dlv

ﬂ?mm
67Tkm
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CH. 4 Al )

Graphs Al cdaladal)

S8 T

digl g Qgulall ale Jadi aglall cpa 23e 8 ald Sl jualad) B gl 8 dild) cilaladial) e
 slaassll g ALaify) ale g 4, <)

s Al cildaladal) alud

: (directed Graph) 4 gall bl hbial) - A
: PL:J\ Jead

O—CO

. plad) JSEN) 48y LIS

: (Undirected Graph) 42 ga jl) ALl il - B
s alad) JS&)

O—CO

.QUSS‘QAM\DM%MUJQE&@M\M\JAJ

s dalad) 5 guaal)
G=[V,E| ) bhid) ;G
. g."l.)m bhial) walic -3

.edges saliad) (pn dlua gal) Ja ghdll A :E

Q.1 - Find the components of the chart the following?

Ans :

G=(V,E)

V={a,b,c,d}
E={(a,b),(b,c),(b,d),(a,c),(c,d) }
N=|| V || = 4 vertices

M=|| E ||= 5 edges

33




: (Paths and Cycles) <9l 5 &) jlsall

:(Paths) < )
\:\AJ\ALJJJEJMJSSMJM&Oﬁgﬂ&d\w‘bﬂﬁ\&u\xﬁgﬂ\ﬁM\g&
L ie G i in it Jlosn oS A1 Unars, jaall b ealish (i o gl il 4 e

:(Cycles) <) g2

Ll A paiad) @l g4 el Dl A puaiadl o) Ena ALl Jaladial ‘\‘;M“ bl lall 33 2
.Cycles 5,39 9) (3la jlusa Lual ¢ o< jlucall

Q.1 —Some list Paths from atoc ?

Ans :

Path length
(2,0) 1
(a,b),(b,c) 2
(aSb)9(b’d)’(d’c) 3

Q.2 —Some list Cycle in Graph ?

Ans :

Path length
a,b,c,a 3
d,b,c,d 3
a,b,d,c,a 4




s dadl B duilud) cillaladial) Juiia
2 W bl caamg 3 ¢y 980
: (incidence matrix) 42 siadl) -1
4 jliay gl 48 gluaall sl e o)) cild ghuaall aladindy bl cillabdial) Jial g g3l 3 gaa Janssd
Ot a3 525 0 Ol g Crpmaind) G Jlewa 3529 Ao 138 1 Uaa g o)f 48 shianl) Baas] g i ghaa
. ")...Uad.'\ﬂ\

l edges jwsiaw 13

a ij = |:

0 edges jlbwes a2 o il

Q.1 — Representation Graph to using incidence matrix ?

Ans :
—a b ¢ d S
2 0110
b 101 1
A=l 1101
0110

0 i 13 Jlua 23 g¥ a g a cigiuall g baas¥) G U (lead) B U S3LaS ¢ Jad) 48 )k
iy 1l e dag boga A dis
Q.2 — Representation Graph to using incidence matrix ?

T

Ans:

1 2 3 5
1{o 100 1}
2|1 @ 1 1 1
3101 010
A9 1 16 1
511 T DT B

35




:(Adjacency List structure) -2

Q.1 — Representation Graph to using Adjacency List ?

Vi

Ans :

1 g 5|/

2| 1| 5] 3| 4]/
3| 2| 44|/

4 = 2 > 5 ~ 3|/

5| 4] 1] 2]/

Q.2 — Representation Graph to using Adjacency List ?

oOf: (D

Ans :
Adjacency-List Array

0 —+—» B = C =D
1 —_—t A ] E | F
2 —_ A 1 F

3 ——

4 —T—» B

5 ———p B C
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: (complete graph ) alal) Slul) ki) -3

If there is edge between every 2 Vertices

m =2 (n-1)

2

n=|[Vi
m=[E||

.(Subgraph) 4l it 4
s dalald) 5 guaall

G=(v' ,E") as G=(v .E) if vi<=v E’<=E

5
o ° I:} Ih‘

Ans o

G=(v .E) G=(v" ,E’)
V = {a,b,c.d,e} v'={a.c,d.e}

E = {(ab),(b,c),(b,d).(dc)(de),(e.chiac)) E’={(ac)icd.ce)}
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Weighted Graphs and the Minimum Spanning Tree (MST):
: Bl gall 5 add A aallg g5 gall Al o gaa )

. edges Vsl £ 5a2a 889 : (Weighted Graphs) ikl kbial ¢y

WI(G) :E Weighted of edges

Q.1 —-Find Weighted by graph ?

Ans :
N=6

M=10
W(g)=430

: (Minimum Spanning Tree (MST)) 31 gall 3 adl J3¥) aal)

&g (prim) a4 b g (krukel) WS g8 48yl Laa ¢y o dllia | Lial) 348 gl 5 i) Sy
. (MST) 505l § ] Us¥) anl alaf 35 ) G 1 9935 (o
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: (krukel) JWu S 48y ka1

de g oisllg i M J@&J\Qﬁdfj\hjh&d&eﬁn &M\é&d@j?\g\;%ﬂ\cﬂ
A O1gY) 0S8 O gy Allie 585 Y Aanl) (2 (AL gL O alad ) g paa
T A (sSis 5 A Jua i ABRY) Jars mmm-1 G585 0 (N LAY | sl

Krukel algorithm to find MST :

Input :
G: a comneted weighted graph .

Output :
T:aMST of G.
1- the edges by weighted in Ascending order .

2- start with T heving all the vertices without any edges .

3-K=1.
4- while K<=n-1 //a MST has n-1 edges .

T=T U {e} vadd eto T
K=k+1

Q.1: Find a weighted MST by :

F =(1,3),(4,6), (2,5),(3,6), (1,4),(3,4), (2,3),(5,6), (3,5)
Wt :10,20,30,40,50,50,50,60,60,60

Ans :
Step3 Stepl
30 10 20
40
Stepd
Wt : 150
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Q.2: Apply Krukel to find a MST ?

Ans :

N=6
M=9
W(g)=170

F: (1,2),(6,1), (6,4),(6,5), (2,3), (5.4),(1,4), (1,3),(4,3).
Wt : 5,10,10,15,15,20,30,30,30,35

Step2 Stepl
10 5

Stepd 15

W(G)=55

Prim algorithm to find MST :

Input :
G: (V,E), a comneted weighted graph .

Output : a MST of G

1- start with any vertices V .
2-Vi={V}, T=9,

3- while (vl # v)

#lete=(x,y): x = vl&y == vl
#Vi=vl U {y}

# T=TU {(x,y)}

40

: (prim) pas 48k -2




Q.1: Apply Prim to find a MST ?

Ans :

N=6
M=9
W(g)=170

W(G)=55
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CH.5 el

Logic Math . b ) haial)

S8 T

o oY AL 3 B e £ a5 LY g LgdShidia A gy £3Ma g Gl o slad) &}Ai O by ) (glaial)
Al Jilaall aran Ja Jeomion Lgid aa 32 (e A1) pala) 30 g8 aSilac by 2 gl L) V30 B
. Q) Vag

t b ) ghiadl jga
A dlaad) ol ddids g
. oulally g Undy il guaal) (gl ny ALl " Not "
v 233 OR
A cilal) And
— dh g pda o e A If.....then
< byl 4305 s e x If and only

LS Sl Gy s dgles IS 7 Al cpa g ALY Jag € Jgall o3 aa Jalaili CisS

Oy Lgilaa g Saa) 3 A Jodad) B a5 ge sala o) s & il o caa ALY pudal o JB oSl
il B Lgh i gie quily 1ila g ciileall o3 Lgple 355 ) pLY) 06 iba

Alilgle g3 P A Va9 i3 baid llia o g ma iy 43852 ) oa
Crsiia QAL 3 €l yiiia COU Laid quba sl gl ra by dry F ol T Lal Ja el i g ciland)
18 il CAS £ ga ga (B prida gae 138 QLT g EBE (S o Jad) B A, oM La oSl gl A
- Jsaal) aladiuly Adhis AN
s dgles JS Jgan by (o il OY)
WFGFF s W T 4 dS ee Gl0r s ousall il agdl Not J) Zidadl e (gl Sy / Jadas
T<T T e sl F 4 JS peand
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s Agilaial) il o)

And Or Not
p q DG 4] q DV g
T T I T T T
T F F T F T P P
F T F F T T T F
= = F F o F = T

F SF Lol sT T 5T @ (g B3 Of Lgdna Ja ) 4l G g Badal) el Jguul (in g /Bada
JF oo AT 1Y Ll gale 381 L) Lagd¥ 40T Jany

B 48 Gl gua S Jaai g pgedd) Al AnTy ) piall 79 5 (5 94k g2a S gl Lgasle Alagpial) (B Ll
03l ke g8 ) Adlal () e (3 b g pgel e i I uiiall £ 55 B il g
. sUad i G 13) Lol ) gasr i) (J g B i dna 3ia

dda g pliall Ja ) Al
rl4g | p—>g blg|perg
| T T | T )
T |F il I | F F
F1T I FI1T F
F F T = = T

PN

OB Aa Y Jglaadl B i piiall Cn ABBle ¢ AT ol i Ladie GlN)) CAliAy EOG gf o)) e SlUia

, Sl 3o (w2 g glew (v JAdk YIGP g A Al sUadd) g ol guall L] 230 ) 8 g ala
Jadd aal g e LA Y (Nlaal L8 pot d\gd@\lwaﬁa\l&ui&\l\gégﬂ\dﬁg\@\@g@

by Jgaa ol ) Or sand  Joaad 313y ¥lal 612 = aa)g w2 Jgaal) graay (il
L CYLaY) e ga il 92 H ulS Lgaui g aS il piial) a3e 685 elia
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Q:1 Show that:

Ans.

“(pATq)

plag| g |prTg | (pAg)
T|T| F F T
T|F| T T F
FlT| F F T
FI|F| T F T
Q:2 Show that :
pvipva)
Ans.
plg | "p|lpvg | pVvipVva)
T|F| F T T
FlT| T T T
F|F| T F T

Q:3 Show that :

Ans.

pAghrT(pvg)

plag |pag|pvg | (pva) | (prgn"(pva)
T| T T T F F
j" JE JE :" JE ‘,‘:'
F| T F T F F
F| F F F T F
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:‘"gh.ud' \géau....h.‘"“ ¥

:( Logic Equivalent = ) 1383 (1

S O bl 1o o (A5 () 1588 S5 o g Ay 030y it Ly ) JISEY) (pa 0
» O g8 aladiiady 0K 5 3 gaad) aladialy J oY) olidilsia old ) of el

Ex:4 Show that using Table :

Ans.

p—rg=pvg

pl|lg|p—>g | P | PVyg
T|T T F T
f‘ ‘.‘3‘ 1.‘-" ‘.‘3‘ 1.':'
F|T T T T
F|F T T T

= 1

Ex:5 Show that using Table : (PV @) Vr=pVvigvr)

: dshiadl plasindy (A

pla |, |pve|(pvavr|gvr | pvigvr)
T |1 |r T T T T
T T F T T T T
T |F | F T T F T
FlT|T T I L L
F | T |F T T T T
F|F|T F T T T
F|F|F F F F F

-

46




s haial) ol 8 il (B

rl_'_'n‘:ll _-ul_#r_i'-f \ _'n:'I._wU l_'r'_l-ljé (0
alpvg=gvp a)pvwI=IT bypvF=p
byprng=gnp c)panF=F dypaT=p
apamill fiiga (Y aanl] failgd (7

a)pvigvr=(pva)vr a)pv p=T by prnp=F
Bypnalgnr)=(pag)inar o) T=F ¢) F=T

Vyad] peales
ol (ol ge al

a)pvigary=s(pvg)n(pvr)

blpalgvri=s(pagvipar

wanll gala il (Y
{ . 4

-

p=p

g g3 (8

alpvp=p

bDypanp=p

,-]L::_Jj.ﬂ ,.__g'l.-:t..ﬂ}:- (A
a) (pvql="pn_g

b) "(prgl="pvg

Q.6_ show that using method:
Cen@vipagarv (pvg) (I

nl ] s

(1) =Cer~g)v[palgar)]v(Teng)

=("prTg)v[TpAllgar)vg)]

=("prTg)v("pAg)

=pngVvagl sl psila
o AT wesll 5ails

|
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: Tautology & contradiction (2

LRl S Ladd ey A (P vp )Tautology
Lk (< L ey A (P AP )contradiction
Ex:1_ show that:

PAPTFG) g is Tautology ?

Ans.
plg|p—og |[/[H|PAMPTT) >q
I | T I F I
I |F T F I
FI|T F F I
= Tautology
F|F T T T

: Principle & Duality (3
o Slga sy, maa psligor (M and S oSS O sa s LAl Tae g8 1 Jg 102 gl 13
. OuSally aSall g Uk

Ex:1_ show that:
a) PHrad = PVg

bypar=p
Ans
a) Pvd = PAg
by PV F=p
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